
 

 

GREEN E 
1) 

 

 

100 – 23.4 – 77.6 

2) 

 

 

101 x 48.2 

3) 

 

 

2954 ÷ 4 

4) 

 

 

During a cricket match, play was suspended for rain at 1:18pm. Play 

resumed at 2:50pm. How long was the delay? 

 

 

5) 

 

 

Change 0.04 to a percentage. 

6) 

 

 

Evaluate 99 x 77. Use an estimate to check that your answer is sensible 

(you should write down the values used to calculate your estimate). 

 

 

7) 

 

 

At a dinner, there are 11 guests and 37 roast potatoes. Each guest has 

at least three. How many could have four? 

 

 

8) 

 

 

When painting the lounge I used half of a 3litre can to complete the 

first coat of paint. I then used two thirds of what was left to complete 

the second coat. How much paint was left after both coats were 

complete?  
 

 


